RS Place values

Name - Starttime-_ _: Endtime-__:

Complete each equation below to make it true.

1. 9 thousand + 6 hundred + 3tens + 3one =

2.6 thousand + 6 hundred +4 tens + 9 one =

3. 1 thousand + 5 hundred + 2tens + 0 one =

4.9 thousand + 9 hundred + 5tens + 9 one =

5. 5thousand + 3 hundred + 2tens + 7one =

6. 8 thousand + 3 hundred + 1 tens +9one =

7. 2 thousand + 6 hundred + 6 tens + 6 one =

8. 6 thousand + 8 hundred + 9 tens + 3 one =

9. 4 thousand + 4 hundred +4 tens + 3 one =

10. 8 thousand + 2 hundred + 8 tens + 1 ohe =

\ 2 3 4 5 6 8 0
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